ATVAZ I T AR R

! : : + TAIZHOU
A7V Variable Displacement Piston Pump

ETERNALHYDRAULIC

iw

XX MEEER, AFAXOBHKREED,
XRESREERRHFEHIEL, EEEENEET, IZHLTRTE,
XEHEEMWFTE, ATESMIERFRAT 6.

X FH Y im A B R AR TE,

Description

¥ Variable displacement pump,axial piston, bent axis design, for hydrostatic
transmissions in open circuits.

* The flow if proportional to the drive speed and the displacement and is steplessly variable at constant drive speed.

*% Comprehensive programme of control devices for every control and requlation function.

% Operation of both mineral, and fire—resistant fluids.

”
-
ey
Y

I'I_IJ\, 7 W 0o V> /‘h &

fr
[ [

- SR

%%l Seriest %%lSeries 5.1
M1 Size20-160 #M1&Size250-500
Zatss Special Features
AR NE R A R PKE B M A, AL % High performance rotary group with sphericalcontrol area offering the following
Bzhxtdh, KEE, 58E, advantages;self-centering, low peripheral speed, highefficiency.
IR ZhABE A 1R M KT % Drive shaft will support radial loads.
XK FE ¥ Long service life.
MARRE R, % Low noise level.

EEFEM

FE: iR (EEth ) BEZEAMERENEE, SRS TEREEE, AMEREEFEASBEERS
#B3iF90C,

REFOEAM=0.08 MPa (EXFEH ) , RittilEND (RERRITFHNESES) M<0.2MPa ( E3XfE
71), RENEAESRETFHE FIEREMZ T ERIMNDEE,

(HEARY IR ARER, ESE, EERKEKESRATVRAT TSN, EAEN, BREA,

NOTES

Important: The leakage oil (case drain oil) temperature is influenced by pressure and pump speed and is always higher
than the circuit temperature. However, at no point in the circuit may the temperature exceed 90C.

The minimum pressure at the suction port of the pump>0.08MPa (absolute pressure),and the drain pressure(max.
permissible casing pressure)is 0.2MPa (absolute pressure).The pressure in the housing must be the same or greater than the
external pressure to the shaft seal

The technical information in the catalog is for your reference. Please consult our technical Dept., if you have any special
requirements.

99



B S $5iR Type Code

1=£5#3723% Machinery Type

I MoHR, &R, FJITE Axial piston, bent axis,variable l 0S=-A7V ]
2—-#1#% Size
| #=0isplacement mur | 20 | 28 | 40 | 55 [ 58 | 80 | 78 [ 107]117 [ 160|250 |

3-F&4#144 Control Device

1BIHE TR Constant power control LV

1B IH 2 fa 1718 I & Constant power control with load sensing LVS

8 &35 & Constant pressure control DR

18 J& f2 #551€ B T &= Constant pressure control with load sensing DRS

F 23 & Manual control MA
4-%% Series

#A#ESize 20-160 1
i MK Size 250—500 5.1
5-1EFE A E ( M3Hi%E ) Rotating Direction(View on Shaft End)

WG f £t Clockwise R

#Rt¢t Counterclockwise
6-$f# Shaft End

& Splined shaft DIN 5480

& Splined shaftGB3478.1-83

EfKeyedshaltGB1096-79
7=l A& Ports Type

EHiO:SAE%RX, #£®M, Pressure port: SAE flange, on side.

B O:SAE%2, MM, Suction port: SAE flange, on side. F

EHihO:RYERE, ERE, Pressure port: threaded,on side.

M O:SAEXZ, MM, Suction port: SAE flange, on side. ¢
8-1T#2PR{i Stroke Limiter

i&%H none lo)

YL T2 IR {z (A TLVANDR)Stroke limiter,mechanically adjustable (for LV and DR) M

B IE1T2R{L(A FLV)Stroke limiter,hydraulic (for LV) H
9—## B st 44+ Auxiliary Equipment

&% None

T E H 1B With pressure cut—off D

1T & R OrderingExample: CR=-A7V 55.LV.1.L.Z.F.0.0

WMEAHEBERRCR-A7V, MIESSAEMERC, RI1. ERHER, BH2ER, SAEEZEE, QETRREXMBY TG,

Axial piston variahle displacement pump CR-A7V size 55.With constant power control, series 1.

Anti—clockwise rotation, splined shaft, SAE flange connections, without stroke limiter and auxiliary equipment.

100




A S % Technical Data

1, #ATEESERE (X E )
Inlet Operation Pressure Range(Absolute pressure)

=IKEAN Ps min

HEiE}j—:jJ Ps max

2. HOTEENERE
Outlet Operating Pressure Range

IEEE S Pmax

3. &# & Technical Date
(BitME, RERYMZRMEFRZE Theoretical values,without considering mechanical efficiency and volumetric efficiency)

0.08MPa
0.2MPa

35MPa
40MPa

#Mi&Size 20 | 28 | 40 | 55 | 58 | 80 | 78 | 107 | 117 | 160 | 250
, Vgmax  mU/r| 205 | 281 | 401 | 54.8 | 588 | 80 | 78 | 107 | 117 | 160 | 250
HEE Displacement
Vgmn mlr| 0 [ 81| 0 |158] 0 |231 30.8| 0 |46.2| 0
LV [ ] [ ] o [ ] [ ] o [ ) [ ] [ ] [ ] [ ]
LIk LVS e bl
Control devices DR ° ° ° A b -
O=F[ UL E
Available DRS ® ®
MA [ ] o [ ] o [ ] [ ] o [ ] o [ ] [ ]
\ 7£0.09MPd Nmao0s  r/min | 3800 | 2800 | 3200 | 2360 | 2850 | 2120 | 2540 | 1900 | 2240 | 1650 | 1400
= ‘E‘E
:Aia's’f:;ed #£0.1MPa’ Nmaxot  r/min | 4100 | 3000 | 3400 | 2500 | 3000 | 2240 | 2700 | 2000 | 2360 | 1750 | 1500
#£0.15MPa' Nmao1s  r/min | 4750 | 3600 | 3750 | 3000 | 3350 | 2750 | 3000 | 2450 | 2650 | 2100 | 1850
, ZENmax0.09 Qmaxose L/min| 76 | 76 | 124 | 125 | 161 | 164 | 192 | 197 | 254 | 256 | 340
= K=
BARE ZENmaxo.1 Qmaxor L/min| 82 | 82 | 132 | 133 | 170 | 174 | 204 | 208 | 267 | 271 | 364
Max.Flow
FENmax0.15 Qmaxois L/min| 94 | 98 | 146 | 160 | 190 | 213 | 227 | 254 | 300 | 326 | 449
BkmE ZEQmax0.99 Pmacos KW | 45 | 46 | 75 | 75 | 97 | 99 | 116 | 119 | 153 | 154 | 204
Max . Power ZEQmaxo.1 Praot KW | 49 | 49 | 80 | 80 | 102 | 105 | 123 | 125 | 161 | 163 | 218
(£ p=35M B Rt 2r Q15 Praots KW | 57 | 59 | 88 | 96 | 114 | 128 | 136 | 153 | 181 | 196 | 270
& Flow fEne=1450/min  Q  L/min| 288 | 39.5 | 564 | 77.1 | 82.3 [112.5|109.7 [150.5| 1646 | 225 | -
I 2% Power fEne=1450r/min P KW
17 | 24 | 34 | 46 | 50 | 68 | 66 | 91 | 99 | 135 | -
(Ap=35MPa)
H14E Torque £ Vgrax M Nm | 326|446 | 637 | 87 | 932 |127.5| 124 |169.7| 186 | 254 |3975
(Ap=10MPa) 7E Vamin M Nm | - [129| - |251| - |368| - | 49 | - [735| -
148 Torque TE Vomax M  Nm | 114 | 156 | 223 | 305 | 326 | 446 | 431 | 594 | 651 | 889 | 1391
(Ap=35MPa) 7 Vgmin M Nm - |4 | - | 8| - |129| - [171| - | 257 | -
21448 Moment J kgm? 0.00170.0017|0.0052/0. 00520.0109|0. 0109)0.0167(0. 0167/0.0322(0. 0322| 0.088
=& Weight kg 19 | 19 | 28 | 28 | 44 | 44 | 53 | 53 | 76 | 76 | 105

1, Frn{EAWH OSKHAEXTES, BEIEVeme AT ¥k TIE,
2. UBRKEEI7%HE,
3. MEAEEEHART, SSHENSHBT015 MPartf#{E, 7£28-20, 55-40, 80-58,
Mg, BEILEDHER (Vo<Von ) MLERFTARE, REKERAIRSZAHMN V=0 EHER,

1. The values shown are valid for Vgmax. With an absolute pres—sure at suction inlet S and wh en operated on mineral oil.
2. Calculated with a volumetric efficiency of 97%.
3. The maximum speeds at 0.15MPa shown must notbe ex-ceded, even with higher loadin g. On those sizes with Vgmn>0, however the

maximum speeds can be increased to the values for those sizes with Vamn=0 by reducing the displacement (Vg<Vgmax) and maintaining max.
flow. The relevant sizes are 28-20, 50-40, 80-85, 107-78, 160-117.

101

107-78, 160-117ZAEMEH, IFTFVomn> ORIAPLE




R B Mounting Position

fEio 3
i B AFETRER, FTLE—100° KIZSL(UBDEEE).

RRBRIGE TR R S TFHENN, MORMEESANT, Ik

Optional. The pump housing must always be filled with oil. When mounting
within atank the plug must be removed from port Rand this port must be at

the top.90°

pipe bend to be screwed in (noise reduction).

IR ZhHMEA_E T H L3 Vertical mounting with drive shaft pointing upwards
kB AEETFAHOUFUARS ( AXFRATFULNU:) , SREEAME

F “A” &, ME1FR,

ZRIETmANEH AU FUB R, H3ETFmBEINeT, RERIE

WRTEH AU UHES

For this case a model with ports U1 and U2 must be ordered (indicate in clear text:
oil level must not fall below the “A” line, as shown is Fig1.

LA

min. oil level

U1.uz2

EFig 1

“with ports U1 and U2" ). The minimumo

When mounting within a tank the plua must be removed from ports Ui and U2. When mounting outside a tank, the
pump must be bled at port U1 or U2 prior to commissioning.

R Tih#ATNES Mounting on Top of Tank

A7V TERFETHEMESNEESoRE, ReaEsE
BISHTSEIM, ITHREEEA: AT hEmitesE, X
MREZREHOMF LS, BHERTEEE, Bik
ZMETFRAREE 200mm, WE2, WHEHRRZMER
E M BYTREE0.8E 1m/s Z i,
BEMRERBERLTEXREZER (Vone) BEZ, 3T
AT MVemFFIRHIZR, QmfRARET AARAZISMRE=
Vom a8648t, ABREZN TIERBHMERZS,

Mounting of the A7V variable pump above tank must

be considered as a special pump installation and should
only be realized under specific conditions.

When ordering pumps for mounting on top of tank
state in clear text: “ToBe Used for Above Tank
Mounting”

This installation requires that the suction portbe atthe
top and the suction pipe be kept as shortas possible
and the end of the pope be at least 200mm below
minimum oil level, see Fig2. The cross—cut of the suction
pump should be dimensioned to ensure thatthe flow
velocity of the pressure fluid lies between 0.8 and 1m/s

Rk
Suction bend pipe
S

KR ELowest oil
b e

AEhAHER
Filled oil and bleed air
SELR
Airtight assembly

_aﬁ_

Lmax

\

&Fig 2

Start-up of the pump with all controls is only possible when the pump is at its full swivel angle (Vgm ax),Fopumps with
minimum flow of =5% of Vgm as.In order to avoid emptying of the suction line during zero position operation.

RETHMATIAMNAER, RbEKESHE

EEkE R AR TEFEIEV=0.9m/sF Vmax & H KRB F1 4% (mm)
b0 Max. Speed Max. Length of suction | Calculated suction pie 1.D.(mm) at flow velocity V = 0.9m/s and Vgmex
L) P iy
20 3610 600 41.8 26.5
28 2660 600 42 31
40 3040 750 53.6 37
55 2240 750 53.8 43.3
58 2700 750 61.3 45
80 2015 750 61.6 52.3
78 2410 750 66.6 51.6
107 1800 750 67.5 60.5
117 2125 850 76.6 63.3
160 1565 850 77 74

1) EERE R FRih QLM ES50.09MPa, HEE A Vemadt AT #1ih THERT

The values shown are valid for Vgmax. with 0.09MPa absolute pressure at suction inlet S and when operated on mineral oil.

102



LViE3Zh#FE = Constant Power Control

B RTERWFEATR, RERABRENEFRE, U
RFFH R H AR R T R B E

The constant power control controls flow in relation to
pressure. thereby maintaining hydraulic power constant.
(Provided that the drive speed is constant.)

P
P= 60Q =E#Constant

P—IZpower[KW]

P—IJE J1pressure[MPa]

Q—imtEflow[L/min]

&2 & Commencement of control: min. 5MPa

Bl AGHHERAT EH B ETE
Summation power control possible by throttles via port G.

{T72BR {1 28Stroke Limiter

B AR T 2 PRALAR SR i FE 1T #2 BRI =% T T R A B 2 2 BR )
=AHE, AT EE M VomaxE Vmim.

By means of a mechanical or hydraulic stroke limiter, the
max. displacement can be infinitely varied or limited
Adjustment range from Vgmax to Vgmim.

HAITFIZBR(IEE Mechanical stroke limiter

g 20 40 58 78 117 250
Size 28 55 80 107 160
LER S
Spindle 23 21 28 3t 26 21.25
Revolutions
ErEH%E
Required Torque 80 140 500 630 - -

(approx.)Ncm

& E1TF2BR {28 Hydraulic stroke limiter

RIETERMFEZRNNT TIEEH10%H5EFE T1(
X1l 0)e HOX1HRSRIFIEHA=830MPaxfFrE M
®), MMREZERE TIEEH<SMPaltIiR=E, WEEH

AX 27 1 A% F 5SMPaf 4t E 51
10%=0.5MPa),

A Pilot pressure (port X1) of at least 10% of the operating
pressure is required for the hydraulic stroke limiter Max.
permissible pressure atportX1=20MPa (for all sizes)

if it is required to limit the flow at an operating pressure
<5MPa then a boost pressure of min 5MPa must be
applied at port X2 (at port X1 then,min10%=0.5MPa)

(M A X1EAHA 5x

BT

E AT

& B T Vormin=0RI FF & M4& o
EAVIHEEmEENRERNEEES, EEBTIRF
], HEENEENSSENRGEATEEZIS1.5MPa), i%
BT, REENRDPEQ=0, MFRSRISFLE, W
FEMESMALE (B ) KRR E, EEBRERKEE) L
BRTF5m, lAFESRREZLMITE,
HRATENVIWRIENERTER, RETESMENGILIEET
ERDRAYK3ME,

R I iR D TANSE S Eih O T1 2425 B R AR
EEMELETERDRIEELE,

BEEETELV
Constant power control

TR AR T ELY M
Constant power control with mechanical stroke limiter

R ETERAKIEETELV --H
Constant power control with hydraulic stroke limiter

Auxiliary Equipment
Pressure cut—off
For all sizes with Vgmin=0

The pressure cut- off is a constant pressure control superposed
on the constant power control and is carried out by means of a
sequence valve. When the set. maximum pressure is reached
(adjustment range up to 315MPa), the valve opens and the flow

is automatically reduced (to Q=0).

The sequence valve is mounted separately from the pump in any

suitable location one subplate (remote control).

When using the constant power control with pressure cut - off,
the pump control times, will be approximately 3 times longer

than those obtained with the constant pressure control DR.

Important: Port T from the sequence valve and pilot oil return line
T1 must be piped directto tank (cooler). Continuous operation in

zero position see constant pressure control DR.

103



i# O Ports

B JE1i8 APressure port
S % it A Suctiorl port
G S ThZ4= )ik OPort for summation power control line
X1 & JE 1 OPilot pressure
X2 #Z#= O Remote control pressure
A1, X3 iE3$=&;H OPorts for remote control valve
T1 £ S [E il OPilot oll return
HENYIN (B2 ) EETIZ RIS E IRV -+ HD A HSDAirbleed
Constant power control with pressure cutoff
(remote controlled) and hydraulic stroke limiter
T EITHERE E St E Variable power setting range
1 Size 20 28 40 55 58 80 78 107 | 117 | 160 | 250
#i#ESpeed No r/min | 1450 | 1450 | 1450 | 1450 | 1450 | 1450 | 1450 | 1450 | 1450 [ 1450 | 980
EFlow Qo L/min | 28 39 57 77 81 |110.5| 110 | 150 | 165 | 225 | 237
AEE YIS TS5 E Pomin | KW 3 4 55 7.5 7.5 11 11 15 15 22 22
Without pressure cut-off Pomax| KW | 11 | 15 [185| 30 | 30 | 87 | 37 | 45 | 55 | 75 | 90
= E YT RIE e Pomin | KW B - 535) - 7.5 - 11 - 1% - 22
With pressure cut-off Pomax| kW | 10 | - |185| - | 27 | - |37 | - |85 | - | 90

DR{EEF & Constant Pressure Control

EETEEHTELENRFREENEEFAZRERESHUOZMN, TERUEN TELREREER, MRENBLIEZEHE,
MRBZREINEE.

FREEAFTEEZAER LEE (@R, REE ) , #EBES-35MPa, Xt FBEE smE|ffFm LigE, BiERigEEEs-
31.5MPa,

1EEZEIE A FVomn=0RI BT B #4E

The constant pressure control maintains the pressure ina hydraulic system constant within its control range in spite of
changing pump flow requirements. The variable pump supplies only the volume of fluid required by the services, Should
operating pressure exceed the set pressure, the pump is automatically swiveled back to a smaller angle.

The required pressure is set either direct at the pump (valve built in standard model) or at the separate sequence valve for the
model with remote control. Setting range from 5 to 35MPa. Setting range for re mote control 5 to 31.5MPa.

A®) R A (B) aml R

1BEZEDR (@A) 1EEZEDR (B )
Constant pressure control DR (valve built—in) Constant pressure control DR (remote controlled)

i IR BRI AR MEL . RAERERRKERBESM, F Rl ATARMZEEmE, XTREPATEARPNLRER, HEHNRELR
LLEEEEMNENEEER2MPa,

Note: Order sequence valve subplate separately.The max. single pipe length should not ex ceed 5m. Port T from the sequence valve must be
piped separately to tank. A pressure relief valve installed in the system for protection of the max. pressure must be set 2MPa above the setting
of the constant pressure control.

104



H B EIAdjustment Times

& Size 20 40 58

78

117

Vgmin—Vgmax te(S)
EE35-5MPa
Pressure unloading

0.16 | 0.2 0.25

0.25

0.3

3 BX T {% Parallel Operation

B ATVIERTRREIE TR, HERMSERE,
TEITHE AR “"HETIE" .
HE TN aERTESANERFE.
For parallel operation of several 0S-A7V pumps with
constant pressure control. A steeper curve is used for the
constant pressure control.

Vgmax—Vgmin ta(S)
FE5-35MPa
Pressure built-up

0.03 | 0.04 | 0.05 | 0.05 | 0.06

FiEE, RPBEMEKIME,
The values in the table are increased by 3 times for remote control.

T2 PR £ Stroke Limiter

EEY FAURAT IR BRAL RS FTE R K HEB T R FR B FE Vomax 5 VorinZ 18], ¥ RLVEE,
The max. displacement can be steplessly limited between Vgmax to Vgmin by means of a mechanical stroke limiter.

For details see control device LV.

HEZHEZ T {E Continuous Operation in Zero Posi tion

Flease indicate this requirement intext afteethe type
code when order in { “parallel opperation” )

For parallel operation each individual pump réguires its
own sequence valve,

AERHEPENETRIE HREMENTTREIE-
Zero stroke operation without flushing of housing Zero stroke operation without flushing of housing
BEAEEN | BB REES
Sho rﬁiqriods max.pressure Pmax(MPa) 315 1 max.pressure Pmax(MPa) il
<10min BEAFRE 50 Long periods | g 5218 )
max.temperature tmax(C) max.temperature tmax(C)
BEAVESN ry
| max.pressure Pmax(MPa)
Long periods BERILFE
max.temperature tmax(C) 50
WSRO
k= Flushingflow Connection for flushing
#Mi&Size 20 | 40 | 58 | 78 | 117 | 250
= flow Qsp L/min 2 4 6 8 12 | 12,5

L ATV E T B TR EPmach 31.5MPa T 1 8 4TI T1ERT,

IR = R R AU e E R SR st

Note:When mounting the

A7V on top of tank and at zero stroke

operation for longer periods of time at pressure up to Pmax 31.5MPa

a minimum flow > corresponding to flushing flow as indicated for
each size in the above table must be set instead of case flushing.

ML RORE < MAERE

Temperature of flushing fluid<tank temperature

MAZF 53 & Manual control

B FRER TR ETEEERMmEs, HEEHERmE
BHESmIED, M{EREVenZE Vst B R TR T HAE,
By tuming the handwheel, a piston is moved in an axial direction by
means of a threaded spindle. A carrier pin moves the control lens
onits sliding plane, thus permitting stepless variation of the pump
displacement in the range Vgmin to Vamax. The pump position indicator
is located in the handwheel.

i Ports

B EJitiHPressure port

S Wi O Suction port

R  #HSHAirbleed

105

r—‘————u———ﬂ.

L |

S
FHTEMA

Manual control




5t{% R 5t Unit Dimensions

LViEZhEF & Constant Power Control

4P 5P%GBN1OQ»SA’3 A

D Ah6

1S 5B GB/T3478.1
HifZ #$DIN5480
Afl &
LAs] ©
3 A
<1
e

HTRRRAIA1ETHZE T8 Constant power control with stroke limiter

Asw MEATRE R

o /| x X
G .
i
E
2
<L
iR
SRR

Asz

106



5N RT3 Dimension Size

éﬁéﬁ o | A | A | As | A | As [Ac|A A || Ao | A [ A A [ Aw| Aw | Ar | As| As | An| Ax | Aw| Ax | Ax
20 | 9° | 251|224 199|107 | 75 |16|25| 8 [43| 28 | 80 |160|M10F17|100(21.5( 85 |52 | 19 | 38| 69.9 | 94 [35.7| 78
28 | 16°|260|223|195(107| 75 |16 (25| 8 (43| 28 | 80 |149|M10F17|100|21.5( 95 |50 | 33 | 38| 69.9 | 94 [35.7 59
40 | 9° | 317|287 |255( 123|108 |20 (32|10 (35| 28 | 123 |261 | M10F17 |125| 25 | 98 |63 | 23 | 50| 77.8 | 102|42.9] 87
55 | 16°| 327|296 | 251|123 (108 |20 (32| 10(35| 28 | 123 | - |M10%17|125| 25 | - |63 | 40 | 50| 77.8 | 102|42.9] 64
58 | 9° |374|337|304( 152137 |23 (32| 10|40 33 | 152 |313|m12im18|140| 30 [109|77 | 26 | 63| 88.9 |115[50.8| 93
80 | 16°|385(347|300(152(137 |23 (32| 10|40| 33 | 152 | - [m12m18|140| 30 | - |77 | 47 | 63| 88.9 [115[50.8] 68
78 | 9° | 381(347|310( 145|130 (25|40 10|45 |37.5| 145 |318 | m12i718|160| 35 [119|80| 28 | 63| 88.9 |115]50.8] 101
107 | 16° 393|358 | 305 [ 145|130 |25 [ 40| 10|45|37.5] 145 | - |m12m18|160| 35 | - |80 | 19 | 63| 88.9 [115]50.8] 73
117 | 9° | 443|402 364|214 | 156 |28 | 40| 12|50| 43 [174.5]369 | M14iF18|180| 40 [136] 93| 32 | 75[106.4]135|61.9] 114
160 | 16°| 454|414 |359]213[156 [28 [ 40| 12]50] 43 [174.5] - [m14m18|180] 40 | - 88| 57 | 75[106.4[ 135]61.9] 83
gﬁ Aos | Acs | Acr | Ao | Ao | Aot | Awe | Ass | Aa| Ass |Ass| Asr | Aw | Aw |Aw | Aet | A | Aw |Aw | A | Aw | A | A | Aso
20 [132| 95 | 11 [125] 58 | 58 [118]50.8| 19 |23.8| 46 [M10®17 [193| - [19| - [ m8 [27.9| 25| 19|50 | 38257226
28 [145|80 | 11 [125] 58 | 58 [118]50.8] 19 [23.8] 46 [M10®17 [189| - [33| - [ m8 [27.9] 25 19|50 [ 38269234
40 [166(109[13.5[160] 71 | 81 [150]50.8] 19 [23.8] 53 [M10®17 [ 253 261 | 23 | 98 [m12|32.9] 30 | 28 [ 60 [ 40| 323|200
55 [182] 91 [13.5[160] 71 | 81 [150]50.8] 19 [23.8] 53 [M1017 249 - [40| - [m12]32.9] 3028 [ 60 [ 40[337]209
58 168113 [13.5[180 86 | 92 [165]57.2] 25 [27.8| 64 [M125%18 [ 301 [313 | 26 [ 109 [ M12| 38 |35 |28 | 70 [ 62378344
80 [194| - [13.5[180] 86 | 92 [165]57.2] 25 [27.8| 64 [M125m18 207 | - [47| - [m12]| 38 |35 28|70 [ 62[391]354
78 |180[120[17.5]200] 89 | 93 [190[57.2] 25 [27.8| 64 | M12i%18 306 [318 | 28 [ 119 | M12 [43.1| 40 | 28 | 80 | 55 | 385 | 342
107 [200[ 98 [17.5[200 | 89 | 93 [190|57.2| 25 [27.8| 64 [ M12®18[301| - [19| — [m12[43.1[ 40| 2880 | 55]400]363
117 |195(137[17.5]224 [ 104|113 | 210 [66.7| 32 [31.8| 70 [ M14im19] 359 [ 369 | 32 [ 136 [M16 | 48.5] 45 | 36 | 90 | 65 | 445 [ 408
160 |212{112]17.5]224 [ 104|113 | 210 [66.7| 32 [31.8| 70 [ M14aim19]354 | - [57] - [m16]48.5] 4536|900 |65]|461]420
g”iﬁ Aoi| A | Ass |As| FBABS | Ay Acs| Aso | Aco| Aot | Ao | Ass | Ass | A | Ass|As SHitese Zhese
20 [230| M3imo | 108 | 8 |42x10[161]14[176] 77 |104[120228] 92| 5 [40] 8 [ EXT182x1.25mx30Rx5¢| W25x1.25x30x18x9g
28 |242] M3w9 | 108 | 8 [@2x10[161|14 (18658 84 [144]238] 73| 5 [40| 8 [ EXT182x1.25mx30Rx5f | W25x1.25x30x18x9g
40 |279] maiw10 | 134 [10[#3x10[184[16[204 85[117[147(276]104| 5 [50| 8 | ExT14zx2mx30Rx5f | W30x2x30x14x9g
55 |202| Maig10 | 134 [10[#3x10[184[16[215] 62| 98 [128]288] 83 | 5 [50| 8 | EXT14zx2mx30Rx5f | W30x2x30x14x9g
58 |330| MsiR12 [155.5]16 |#5x16 22824 [251| 91 [116[142(328]104| 7 [56[10] EXT16zx2mx30Rx5f | W35x2x30x16x9g
80 [343| M5®12 [155.5|16 |425x16|228] 24[265] 65| 91 [120[339] 80 | 7 [56 10| EXT16Zx2mx30Rx5f | W35x2x30x16x9g
78 |338| Msi®12 | 169 |16 |425x16|236 |24 [261 99 [124[150(336]112[8.5[ 63|12 EXT18zx2mx30Rx5f | Wa0x2x30x18x9g
107 [351| Ms®12 | 169 |16 |&5x16 [236]24276] 71| 97 [126[348| 86 [8.5]63 [ 12] ExT18Zx2mx30Rx5f | W40x2x30x18x9g
117 [384|Ms®12.5] 192 |16 [#@5x16 [266]24|294]111[137[164[382[125[ 10 [ 70| 14| ExT21zx2mx30Rx5f | Wa45x2x30x21x9¢g
160 399 [M5®12.5| 192 |16 | #5x16 [266]24[310] 79 [108[137[396 96 [10[70[ 14| ExT21zx2mx30Rx5f | W45x2x30x21x9g
it O R~F%*Ports Size
e B (i) B (L% ) s R G T1 X1, X2 | x3, A1
20 | SAE3/4"(HER) M27x2 SAET11/2"(FERF)) | M16x1.5 | M14x1.5 | M12x1.5 | M14x1.5 | Mi2x1.5
28 | SAE3/4"(BERY) M27x2 SAE11/2"GFERF)) | M16x1.5 | M14x1.5 | M12x1.5 | M14x1.5 | Mi2x1.5
40 | SAE3/M4"(BER) M33x2 SAE2" (IR #: R 5) M18x1.5 | M14x1.5 | M18x1.5 | M14x1.5 | M18x1.5
55 | SAE3/4"(&ER3) M33x2 SAE2" (I #: R 51) M18x1.5 | M14x1.5 | M18x1.5 | M14x1.5 | M18x1.5
58 | SAE1"(BEZRS) M42x2 SAE2 1/2"(#F R51) | M18x1.5 | M14x1.5 | M18x1.5 | M14x1.5 | M18x1.5
80 | SAE1"(BEZR3) M42x2 SAE2 1/2"(}F R51) | M18x1.5 | M14x1.5 | M18x1.5 | M14x1.5 | M18x1.5
78 | SAE1"(BEZR) Ma2x2 SAE2 1/2"(]7ER5I) | M18x1.5 | M14x1.5 | M18x1.5 | M14x1.5 | Mi8x1.5
107 | SAE1"(BER3) M42x2 SAE21/2"((FER5I) | M18x1.5 | M14x1.5 | M18x1.5 | M14x1.5 | Mi8x1.5
117 | SAE11/4"(BER) M48x2 SAES" (IR #: R 51) M22x1.5 | M14x1.5 | M18x1.5 | M14x1.5 | M20x1.5
160 | SAE11/4"(BEZR3) M48x2 SAES" (I # R 51) M22x1.5 | M14x1.5 | M18x1.5 | M14x1.5 | M20x1.5

107




DRiEE3F & Constant Pressure Control

KRR B 71
Standard Model Sremote Control Detail z

#H1& Size a As Az As As As As A7
20 9°| 251 | 134 | 95 | 106 | 38 | - -
40 9°| 315 | 166 | 107 | 127 | 40 | 14 | 53
58 9°| 372 | 160 | 107 | 138 | 62 | 15 | 69
28 9" | 380 | 180 | 114 | 127 | 60 | 14 | 70 | AtFX3AFiE#E, HEERTILY,
A1 and X3 only fot remote control. Other dimensions see LV
117 9°| 441 | 199 | 132 | 165 | 65 | 14 | 83 T1:M12x1.5

MAF 38 Manual Control

Al

F#ET handwheel downwards F##_E handwheel upwards

$#% Size a As Ac As As #% Size a As Ac B Be
20 90 | 251 108 175 95 20 9 - - - -
28 16° | 260 108 190 80 28 16° - - - -
40 9° | 315 134 197 | 108 40 9 317 | 100 | 175 | 1325
55 16° | 323 134 | 215 89 58 9 316 | 100 | 168 | 166.5
58 9° | 327 | 1555 | 215 | 107 80 16° | 885 | 100 | 188 150
80 16° | 380 | 1555 | 235 86 78 9 315 | 100 | 180 | 157.5
78 9° | 355 169 198 | 138 107 16° | 883 | 100 | 270.5 | 1325
107 16° | 390 169 | 270 92 117 9 430 | 100 | 210 201
117 90 | 441 192 | 261 | 132 160 16° | 445 | 100 | 225 143
160 16° | 450 192 | 285 | 107 250 26.5° | 584 | 120 | 320 230

iE: FRPLHHAT, ITHEMERB,

Please give clear indication of the handwheels are upwards or downwards, when you order goods!

108



T R Unit dimensions 1 #& Size-250
LVIELZ 258 Constant HP control

[

- 12
-
=

el

IR £t HERE

R EThERE
Model for Anti-Clockwise Rotation

/l

\ W1 P 4]

e

Model for Clockwise Rotation

DriE/E£Zx & Constant Pressure control

#R#EE Standard Model

-]

]
|
@
|
=

max198

L=

109

i

EBE, #&250: H105AF
Weight,size 250:approx.105kg



AB EAmA
S Wi#mA
G EZEEEARA

u

EPE #2258 Flectric Control

445

max198

service lines
suction line

remote control pressure M14x1.5

(2IhZ#z=#HMA ) ( connection for summation HP control )

HEEn

flushing port M14x1.5

110

395

T
T1
R

S5 EimA
SE S Eim A
HS0O

pilot oil return line M14x1.5
pilot oil return line M18x1.5
air bleed M22x1.5



	欧盛样本1
	页 1
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 102
	页 103
	页 104
	页 105

	欧盛样本2
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41

	欧盛
	欧盛样本1
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 50
	页 51
	页 52
	页 53
	页 54
	页 55
	页 56
	页 58
	页 59
	页 60
	页 61
	页 62
	页 63
	页 64
	页 65
	页 66
	页 67
	页 68
	页 69
	页 70
	页 71
	页 72
	页 73
	页 74
	页 75
	页 76
	页 77
	页 78
	页 79
	页 80
	页 81
	页 82
	页 83
	页 84
	页 85
	页 86
	页 87
	页 88
	页 89
	页 90
	页 91
	页 92
	页 94
	页 95
	页 96
	页 97
	页 98
	页 99
	页 100
	页 101



